
Rekenen - diversen 1

1 Reken het antwoord ongeveer uit.

	Som 
	Afgerond 
	Ongeveer antwoord 

	1 009 + 4 999 = 
	1 000 + 5 000
	6 000

	7 004 + 2 004 =
	7 000 + 2 000
	9 000

	5 991 + 3 005 =
	6 000 + 3 000
	9 000

	6 007 + 2 994 =
	6 000 + 3 000
	9 000

	
	
	

	7 009 – 3 992 =
	7 000 - 4 000
	3 000

	9 008 – 4 009 =
	9 000 - 4 000
	5 000

	8 009 – 5 993 =
	8 000 - 6 000
	2 000 

	10 003 – 8 996 =
	10 000 - 9 000
	1 000

	
	
	


2 Schrijf de sommen onder elkaar op en reken ze uit.

132 + 386 =
185 + 544 =
274 + 363 =
617 + 354 =


1 3 2
1 8 5
2 7 4
6 1 7



3 8 6 +
5 4 4 +
3 6 3 +
3 5 4 +

5 1 8
7 2 9
6 3 7
9 7 1

3 Reken uit

264 + 432 = 696

526 + 357 =
883

183 + 638 = 821

463 + 231 = 694

438 + 271 =
709

564 + 627 = 1 191
537 + 353 = 890

457 + 328 =
785

485 + 719 = 1 204

4 Splits de getallen

372 = 300 + 70 + 2
840 = 800 + 40
 
956 = 900 + 50 + 6
427 = 400 + 20 + 7

606 = 600 + 6
594 = 500 + 90 + 4


751 = 700 + 50 + 1
452 = 400 + 50 + 2

143 = 100 + 40 + 3
222 = 200 + 20 + 2
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